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%1 10 The recommendation of 'gendering’ the social science curriculum is reflected in the
textbooks in the form of:

A) increased references to women and their issues.
B) including the perspective of women to both historical and contemporary concerns.

Choose the correct option.
Options 1. Only B

2.Both Aand B

3. Neither A nor B

4.0nly A

Question Type : MCQ
Status : Answered
Chosen Option: 2
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Q.25 Wihile discussing the theme 'Maps' a teacher should focus on the concepts of:
A) Distance and scaling
B) Sketch and exact measurement
C) Direction and location
D) Symbols and colours

Choose the correct option.
Options 1. B, Cand D

2.A,Band D

3.A,CandD

4.A,Band C
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Chosen Option : 1
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Q.59 Which of the following words were originally used to describe India in the Preamble to the
Constitution in 1949?

A) Democratic
B) Socialist

C) Republic
D) Sovereign
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2.2
3.3
4.4
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Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

FefeTas wTearT i UGe U@ 70 741 & Haw 3UF I are

T 18T & YR TSR &,

T TouTET & TuT afera &,
AT o o =IHF Tohed o,
= 55T SodTE AT |
T o | e @1 se-91ieh o,
IR IR e o gae|

TG &L T <37 TN a9,

T e A |
1 70 G % JIF A A,
T ST H TR A HT
T-T fUa ISR T
3G HET I TR 2

e % T @ATE F Tidtee 4,

T THUT IS T T T |
AT e (99 e AN 9,
1 % AREE-ATET Fiiw =]
ofth % w4 o ffiaem,
T Tohe 728 TRt o 18 U

GTETHT 3R T - =T,

A T T AIE-UL S|

SubQuestion No : 12

1 gt bl T % T ST S BT e TR €, R e

(1) Fe 31 TR FI=T 5T 2
()BT THe AT 2
(3) Te=x BT STTFe o AT 2
(4) 7T T Ha SR ST 2
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ




Status : Answered
Chosen Option : 3

addazy1




Comprehension:

FefeTRas FrearT i UGe U@ 70 741 & Ha 3Ug I 9T

T (8T & YR TSR &,

T TouTET & TuT afera &,
TG o o =9 Foheq o,
= BET SedTE AT |
T o | e @1 se-91ieh o,
IR IR T o gae|

TG &L T <37 TN a9,

T e A |
1 70 G % JIF A A,
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A T T AIE-UL G SR

SubQuestion No : 13

W qred o T 1tE  RfEE A

01. 0T 36T SIS i T AT
02. TS FT FO T oA F A A
03. TSI o T ST T FT EhT

04. S T ATETS W@

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ




Status : Answered
Chosen Option : 2

addazy1




Comprehension:
FefeTas wTearT i UGe U@ 70 741 & Haw 3UF I are

T @I TG T-HATEH F,

o U o Fgu afeTe™ &,
AT o o =IHF Tohed o,
= 55T SodTE AT |
T o | e @1 se-91ieh o,
IR IR e o gae|
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<1 AU I F JIF 7 TR,
T ST H TR A HT
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3G HET I TR 2

ured % 99 @ % Uffe 4,

T THUT IS T T T |
AT e (99 e AN 9,
1 % AREE-ATET Fiiw =]
Tfth & Hoe 5 o fafiae,
T Tohe 728 TRt o 18 U

@I 3R & -,

IS T o FAlE-9e AT

SubQuestion No : 14

1 Aree ¥ v g s

HAE-UT T TS BT —

0l. FIT AT
02. FITTH
03. FST TS

04. FITTE

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ




Status : Answered
Chosen Option : 3

addazy1




Comprehension:

FefeTas wTearT i UGe U@ 70 741 & Haw 3UF I are

T 18T & YR TSR &,

T TouTET & TuT afera &,
AT o o =IHF Tohed o,
= 55T SodTE AT |
T o | e @1 se-91ieh o,
IR IR e o gae|

TG &L T <37 TN a9,

T e A |
1 70 G % JIF A A,
T ST H TR A HT
T-T fUa ISR T
3G HET I TR 2

e % T @ATE F Tidtee 4,

T THUT IS T T T |
AT e (99 e AN 9,
1 % AREE-ATET Fiiw =]
ofth % w4 o ffiaem,
T Tohe 728 TRt o 18 U

GTETHT 3R T - =T,

A T T AIE-UL S|

SubQuestion No : 15

1 o o5 g o T A T

0l1. FE TN T TE TFATE
02. TE LT U] T 2

03. I STRRETET 2
04. FTERIFEETTE

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Comprehension:

Directions: Read the passage given below and answer the questions that follow by
selecting the correct/most appropriate options

Advertisements are actually very useful though we sometimes feel annoyed when
they interrupt our favourite television programmes. They provide us with free
information on the products and services. There are two types of advertisements.
The informative advertisements are the ones which provide us with the details of
the products or services. This information is especially useful if the product or
service 1s new. For mstance, when we need to buy a computer, advertisements
describing the latest models and their different functions would be extremely
helpful. However, only a minority of the advertisements are informative ones.
Many of them belong to the second category  The persuasive kind. These
advertisements not only tell us more about the products but also persuade us to
buy them by claiming their products are the most superior in the market. These
claims may sometimes be untrue.

Besides being informative and persuasive, advertisements also help to subsidise
the prices of magazines and newspapers. Our newspapers are sold at low prices,
owing to the advertisements in the papers; otherwise the prices would have been

higher.

While advertisements can be good helpers for shopping, they do have their
shortcomings. Most of the advertisements aim to sell only. Faults of the products
or services are usually hidden from the consumers. Hence, sometimes, we feel
deceived if the product or service we bought does not turn out the way the
advertisements claim to be.

SubQuestion No : 1

Q@1 The passage tells us
1. about the benefits of advertisements only.

2. about the products that are in the market.
3. about the effects of advertisements on our life
4. that advertisement are a mixed blessing.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Directions: Read the passage given below and answer the questions that follow by
selecting the correct/most appropriate options

Advertisements are actually very useful though we sometimes feel annoyed when
they interrupt our favourite television programmes. They provide us with free
information on the products and services. There are two types of advertisements.
The informative advertisements are the ones which provide us with the details of
the products or services. This information is especially useful if the product or
service 1s new. For mstance, when we need to buy a computer, advertisements
describing the latest models and their different functions would be extremely
helpful. However, only a minority of the advertisements are informative ones.
Many of them belong to the second category _ The persuasive kind. These
advertisements not only tell us more about the products but also persuade us to
buy them by claiming their products are the most superior in the market. These
claims may sometimes be untrue.

Besides being informative and persuasive, advertisements also help to subsidise
the prices of magazines and newspapers. Our newspapers are sold at low prices,
owing to the advertisements in the papers; otherwise the prices would have been

higher.

While advertisements can be good helpers for shopping, they do have their
shortcomings. Most of the advertisements aim to sell only. Faults of the products
or services are usually hidden from the consumers. Hence, sometimes, we feel
deceived if the product or service we bought does not turn out the way the
advertisements claim to be.

SubQuestion No : 2

Q2 Advertisements are enjoved by the people because:
1. they come along with TV programmes.
2. they show a good piece of acting.
3. they are sometimes informative.
4. they are carried by the newspapers.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Directions: Read the passage given below and answer the questions that follow by
selecting the correct/most appropriate options

Advertisements are actually very useful though we sometimes feel annoyed when
they interrupt our favourite television programmes. They provide us with free
information on the products and services. There are two types of advertisements.
The informative advertisements are the ones which provide us with the details of
the products or services. This information is especially useful if the product or
service 1s new. For mstance, when we need to buy a computer, advertisements
describing the latest models and their different functions would be extremely
helpful. However, only a minority of the advertisements are informative ones.
Many of them belong to the second category _ The persuasive kind. These
advertisements not only tell us more about the products but also persuade us to
buy them by claiming their products are the most superior in the market. These
claims may sometimes be untrue.

Besides being informative and persuasive, advertisements also help to subsidise
the prices of magazines and newspapers. Our newspapers are sold at low prices,
owing to the advertisements in the papers; otherwise the prices would have been

higher.

While advertisements can be good helpers for shopping, they do have their
shortcomings. Most of the advertisements aim to sell only. Faults of the products
or services are usually hidden from the consumers. Hence, sometimes, we feel
deceived if the product or service we bought does not turn out the way the
advertisements claim to be.

SubQuestion No : 3

@3 WWhich of the following statements is NOT correct?
1. Advertisement are entertaining.

2. Advertisement are sometimes annoying.
3. Advertisement are informative.
4. Advertisement are persuasive.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Directions: Read the passage given below and answer the questions that follow by
selecting the correct/most appropriate options

Advertisements are actually very useful though we sometimes feel annoyed when
they interrupt our favourite television programmes. They provide us with free
information on the products and services. There are two types of advertisements.
The informative advertisements are the ones which provide us with the details of
the products or services. This information is especially useful if the product or
service 1s new. For mstance, when we need to buy a computer, advertisements
describing the latest models and their different functions would be extremely
helpful. However, only a minority of the advertisements are informative ones.
Many of them belong to the second category _ The persuasive kind. These
advertisements not only tell us more about the products but also persuade us to
buy them by claiming their products are the most superior in the market. These
claims may sometimes be untrue.

Besides being informative and persuasive, advertisements also help to subsidise
the prices of magazines and newspapers. Our newspapers are sold at low prices,
owing to the advertisements in the papers; otherwise the prices would have been

higher.

While advertisements can be good helpers for shopping, they do have their
shortcomings. Most of the advertisements aim to sell only. Faults of the products
or services are usually hidden from the consumers. Hence, sometimes, we feel
deceived if the product or service we bought does not turn out the way the
advertisements claim to be.

SubQuestion No : 4

Q4 Study the following statements:
A. We buy products only after studying their

advertisements.
B. We can afford our newspapers because they camry
advertisements.
1. Aisright and B is wrong.
2. Ais wrong and B is right.
3. Both A and B are wrong.
4. Both A'and B are right.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions: Read the passage given below and answer the questions that follow by
selecting the correct/most appropriate options

Advertisements are actually very useful though we sometimes feel annoyed when
they interrupt our favourite television programmes. They provide us with free
information on the products and services. There are two types of advertisements.
The informative advertisements are the ones which provide us with the details of
the products or services. This information is especially useful if the product or
service 1s new. For mstance, when we need to buy a computer, advertisements
describing the latest models and their different functions would be extremely
helpful. However, only a minority of the advertisements are informative ones.
Many of them belong to the second category _ The persuasive kind. These
advertisements not only tell us more about the products but also persuade us to
buy them by claiming their products are the most superior in the market. These
claims may sometimes be untrue.

Besides being informative and persuasive, advertisements also help to subsidise
the prices of magazines and newspapers. Our newspapers are sold at low prices,
owing to the advertisements in the papers; otherwise the prices would have been

higher.

While advertisements can be good helpers for shopping, they do have their
shortcomings. Most of the advertisements aim to sell only. Faults of the products
or services are usually hidden from the consumers. Hence, sometimes, we feel
deceived if the product or service we bought does not turn out the way the
advertisements claim to be.

SubQuestion No : 5

Q5 WWe should not buy a computer only as it has been
advertised because:
1. advertised computers are costlier.
2. the advertisement may hide its weak points.
3. we already have one.
4. people have not used it so far.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions: Read the passage given below and answer the questions that follow by
selecting the correct/most appropriate options

Advertisements are actually very useful though we sometimes feel annoyed when
they interrupt our favourite television programmes. They provide us with free
information on the products and services. There are two types of advertisements.
The informative advertisements are the ones which provide us with the details of
the products or services. This information is especially useful if the product or
service 1s new. For mstance, when we need to buy a computer, advertisements
describing the latest models and their different functions would be extremely
helpful. However, only a minority of the advertisements are informative ones.
Many of them belong to the second category _ The persuasive kind. These
advertisements not only tell us more about the products but also persuade us to
buy them by claiming their products are the most superior in the market. These
claims may sometimes be untrue.

Besides being informative and persuasive, advertisements also help to subsidise
the prices of magazines and newspapers. Our newspapers are sold at low prices,
owing to the advertisements in the papers; otherwise the prices would have been

higher.

While advertisements can be good helpers for shopping, they do have their
shortcomings. Most of the advertisements aim to sell only. Faults of the products
or services are usually hidden from the consumers. Hence, sometimes, we feel
deceived if the product or service we bought does not turn out the way the
advertisements claim to be.

SubQuestion No : 6

Q6 :at the same time’
Which part of speech is the underlined word?
1. Adjective

2. Pronoun

3. Adverb

4. Particle
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Directions: Read the passage given below and answer the questions that follow by
selecting the correct/most appropriate options

Advertisements are actually very useful though we sometimes feel annoyed when
they interrupt our favourite television programmes. They provide us with free
information on the products and services. There are two types of advertisements.
The informative advertisements are the ones which provide us with the details of
the products or services. This information is especially useful if the product or
service 1s new. For mstance, when we need to buy a computer, advertisements
describing the latest models and their different functions would be extremely
helpful. However, only a minority of the advertisements are informative ones.
Many of them belong to the second category _ The persuasive kind. These
advertisements not only tell us more about the products but also persuade us to
buy them by claiming their products are the most superior in the market. These
claims may sometimes be untrue.

Besides being informative and persuasive, advertisements also help to subsidise
the prices of magazines and newspapers. Our newspapers are sold at low prices,
owing to the advertisements in the papers; otherwise the prices would have been

higher.

While advertisements can be good helpers for shopping, they do have their
shortcomings. Most of the advertisements aim to sell only. Faults of the products
or services are usually hidden from the consumers. Hence, sometimes, we feel
deceived if the product or service we bought does not turn out the way the
advertisements claim to be.

SubQuestion No : 7

Q7 <can be good helpers for shopping’

Which part of speech is the underlined word?
L. Verb
2. Adverb
3. Noun
4. Article

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Directions: Read the passage given below and answer the questions that follow by
selecting the correct/most appropriate options

Advertisements are actually very useful though we sometimes feel annoyed when
they interrupt our favourite television programmes. They provide us with free
information on the products and services. There are two types of advertisements.
The informative advertisements are the ones which provide us with the details of
the products or services. This information is especially useful if the product or
service 1s new. For mstance, when we need to buy a computer, advertisements
describing the latest models and their different functions would be extremely
helpful. However, only a minority of the advertisements are informative ones.
Many of them belong to the second category _ The persuasive kind. These
advertisements not only tell us more about the products but also persuade us to
buy them by claiming their products are the most superior in the market. These
claims may sometimes be untrue.

Besides being informative and persuasive, advertisements also help to subsidise
the prices of magazines and newspapers. Our newspapers are sold at low prices,
owing to the advertisements in the papers; otherwise the prices would have been

higher.

While advertisements can be good helpers for shopping, they do have their
shortcomings. Most of the advertisements aim to sell only. Faults of the products
or services are usually hidden from the consumers. Hence, sometimes, we feel
deceived if the product or service we bought does not turn out the way the
advertisements claim to be.

SubQuestion No : 8

Q8  :For instance when we need’
The underlined word means the same as:
1. moment
2. instant
3. example
4, at once
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options:

For Man Singh, the ruler of Amer it was the first and proud occasion to
lead such a vast army. He was a Rajput and it had become Akbar’s policy
to put one Rajput against another. He had experienced the success of this
policy as well. Maharana Pratap was held in great honour among the
Rajputs. There was a massive ill-will against Amer in Mewar. Akbar
wanted to irritate Pratap by sending the prince of Amer to fight against
him. Perhaps it was difficult for Akbar to drag Pratap out of mountains.
May be Akbar thought that in case the prince of Amer led the army,
Pratap would feel ashamed of hiding in the mountains and would
suddenly come to the battleground and get defeated.

Akbar decided to ignore the sentiments of Muslim nobles. It was a great
decision even for him to appoint Man Singh as the commander-in-chief.
The appointment of Man Singh was more meaningful because it was he
first opportunity after Hemu in 1556, that a Hindu was leading a Muslim
army. There was discontent among the Muslim courtiers. So Akbar
announced the appointment not at Fatehpur Sikri but Ajmer. It proves
that he already knew that his decision would be unpleasant to many.
However, he was firm on his decision, which he had taken after a lot of
thought.

Akbar also knew that he was testing his Rajput soldiers loyalty by asking
them to pick up arms against a Rajput king. He also knew that only
Rajputs would be able to fight an enemy like the Sisodivas on the uneven
and bumpy terrain of Mewar.

SubQuestion No : 9

Q@9 The theme of the passage is:

1. The battle of Haldighati
Akbar’s nobles
Appointment of Man Singh
Valour of Maharana Pratap

w1

B

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options:

For Man Singh, the ruler of Amer it was the first and proud occasion to
lead such a vast army. He was a Rajput and it had become Akbar’s policy
to put one Rajput against another. He had experienced the success of this
policy as well. Maharana Pratap was held in great honour among the
Rajputs. There was a massive ill-will against Amer in Mewar. Akbar
wanted to irritate Pratap by sending the prince of Amer to fight against
him. Perhaps it was difficult for Akbar to drag Pratap out of mountains.
May be Akbar thought that in case the prince of Amer led the army,
Pratap would feel ashamed of hiding in the mountains and would
suddenly come to the battleground and get defeated.

Akbar decided to ignore the sentiments of Muslim nobles. It was a great
decision even for him to appoint Man Singh as the commander-in-chief.
The appointment of Man Singh was more meaningful because it was he
first opportunity after Hemu in 1556, that a Hindu was leading a Muslim
army. There was discontent among the Muslim courtiers. So Akbar
announced the appointment not at Fatehpur Sikri but Ajmer. It proves
that he already knew that his decision would be unpleasant to many.
However, he was firm on his decision, which he had taken after a lot of
thought.

Akbar also knew that he was testing his Rajput soldiers loyalty by asking
them to pick up arms against a Rajput king. He also knew that only
Rajputs would be able to fight an enemy like the Sisodivas on the uneven
and bumpy terrain of Mewar.

SubQuestion No : 10

Q10 yWhich of the following statements is NOT true?
1. Akbar usually made one Rajput chief fight against
another Rajput chief.

2. Man Singh took pride in leading such a big army.
3. There was animosity between Pratap and Man Singh.
4. Man Singhwasa noble inAkbar’s court.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options:

For Man Singh, the ruler of Amer it was the first and proud occasion to
lead such a vast army. He was a Rajput and it had become Akbar’s policy
to put one Rajput against another. He had experienced the success of this
policy as well. Maharana Pratap was held in great honour among the
Rajputs. There was a massive ill-will against Amer in Mewar. Akbar
wanted to irritate Pratap by sending the prince of Amer to fight against
him. Perhaps it was difficult for Akbar to drag Pratap out of mountains.
May be Akbar thought that in case the prince of Amer led the army,
Pratap would feel ashamed of hiding in the mountains and would
suddenly come to the battleground and get defeated.

Akbar decided to ignore the sentiments of Muslim nobles. It was a great
decision even for him to appoint Man Singh as the commander-in-chief.
The appointment of Man Singh was more meaningful because it was he
first opportunity after Hemu in 1556, that a Hindu was leading a Muslim
army. There was discontent among the Muslim courtiers. So Akbar
announced the appointment not at Fatehpur Sikri but Ajmer. It proves
that he already knew that his decision would be unpleasant to many.
However, he was firm on his decision, which he had taken after a lot of
thought.

Akbar also knew that he was testing his Rajput soldiers loyalty by asking
them to pick up arms against a Rajput king. He also knew that only
Rajputs would be able to fight an enemy like the Sisodivas on the uneven
and bumpy terrain of Mewar.

SubQuestion No : 11

Q@1 Man Singh agreed to command the Mughal army because:
1. he wanted to please Akbar.

2. Amer and Mewar were not on friendly terms.
3. he wanted to see how brave the Mughals were.
4. he knew that the Mughal army would win the battle.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options:

For Man Singh, the ruler of Amer it was the first and proud occasion to
lead such a vast army. He was a Rajput and it had become Akbar’s policy
to put one Rajput against another. He had experienced the success of this
policy as well. Maharana Pratap was held in great honour among the
Rajputs. There was a massive ill-will against Amer in Mewar. Akbar
wanted to irritate Pratap by sending the prince of Amer to fight against
him. Perhaps it was difficult for Akbar to drag Pratap out of mountains.
May be Akbar thought that in case the prince of Amer led the army,
Pratap would feel ashamed of hiding in the mountains and would
suddenly come to the battleground and get defeated.

Akbar decided to ignore the sentiments of Muslim nobles. It was a great
decision even for him to appoint Man Singh as the commander-in-chief.
The appointment of Man Singh was more meaningful because it was he
first opportunity after Hemu in 1556, that a Hindu was leading a Muslim
army. There was discontent among the Muslim courtiers. So Akbar
announced the appointment not at Fatehpur Sikri but Ajmer. It proves
that he already knew that his decision would be unpleasant to many.
However, he was firm on his decision, which he had taken after a lot of
thought.

Akbar also knew that he was testing his Rajput soldiers loyalty by asking
them to pick up arms against a Rajput king. He also knew that only
Rajputs would be able to fight an enemy like the Sisodivas on the uneven
and bumpy terrain of Mewar.

SubQuestion No : 12

Q12 Naharana Pratap’s army was ready to fight:

1. In the mountains

In the valley.

On the banks of a river.

In the sandy plains of Mewar.
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options:

For Man Singh, the ruler of Amer it was the first and proud occasion to
lead such a vast army. He was a Rajput and it had become Akbar’s policy
to put one Rajput against another. He had experienced the success of this
policy as well. Maharana Pratap was held in great honour among the
Rajputs. There was a massive ill-will against Amer in Mewar. Akbar
wanted to irritate Pratap by sending the prince of Amer to fight against
him. Perhaps it was difficult for Akbar to drag Pratap out of mountains.
May be Akbar thought that in case the prince of Amer led the army,
Pratap would feel ashamed of hiding in the mountains and would
suddenly come to the battleground and get defeated.

Akbar decided to ignore the sentiments of Muslim nobles. It was a great
decision even for him to appoint Man Singh as the commander-in-chief.
The appointment of Man Singh was more meaningful because it was he
first opportunity after Hemu in 1556, that a Hindu was leading a Muslim
army. There was discontent among the Muslim courtiers. So Akbar
announced the appointment not at Fatehpur Sikri but Ajmer. It proves
that he already knew that his decision would be unpleasant to many.
However, he was firm on his decision, which he had taken after a lot of
thought.

Akbar also knew that he was testing his Rajput soldiers loyalty by asking
them to pick up arms against a Rajput king. He also knew that only
Rajputs would be able to fight an enemy like the Sisodivas on the uneven
and bumpy terrain of Mewar.

SubQuestion No : 13

Q13 Smdy the following statements:
A. Maharana Pratap wanted to fight Akbar’s army in the
mountains.
B. Man Singh’s appointment was announced at Ajmer as
it is away from Fatehpur Sikri.
A is right and B«is wrong.
A is wrong and B is right.
Both A and B are right.
Both A and B are wrong.
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options:

For Man Singh, the ruler of Amer it was the first and proud occasion to
lead such a vast army. He was a Rajput and it had become Akbar’s policy
to put one Rajput against another. He had experienced the success of this
policy as well. Maharana Pratap was held in great honour among the
Rajputs. There was a massive ill-will against Amer in Mewar. Akbar
wanted to irritate Pratap by sending the prince of Amer to fight against
him. Perhaps it was difficult for Akbar to drag Pratap out of mountains.
May be Akbar thought that in case the prince of Amer led the army,
Pratap would feel ashamed of hiding in the mountains and would
suddenly come to the battleground and get defeated.

Akbar decided to ignore the sentiments of Muslim nobles. It was a great
decision even for him to appoint Man Singh as the commander-in-chief.
The appointment of Man Singh was more meaningful because it was he
first opportunity after Hemu in 1556, that a Hindu was leading a Muslim
army. There was discontent among the Muslim courtiers. So Akbar
announced the appointment not at Fatehpur Sikri but Ajmer. It proves
that he already knew that his decision would be unpleasant to many.
However, he was firm on his decision, which he had taken after a lot of
thought.

Akbar also knew that he was testing his Rajput soldiers loyalty by asking
them to pick up arms against a Rajput king. He also knew that only
Rajputs would be able to fight an enemy like the Sisodivas on the uneven
and bumpy terrain of Mewar.

SubQuestion No : 14

Q14 <Ope Rajput against another’

Which part of speech is the underlined word?
1. Article
2. Preposition
3. Adjective
4. Adverb

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options:

For Man Singh. the ruler of Amer it was the first and proud occasion to
lead such a vast army. He was a Rajput and it had become Akbar’s policy
to put one Rajput against another. He had experienced the success of this
policy as well. Maharana Pratap was held in great honour among the
Rajputs. There was a massive ill-will against Amer in Mewar. Akbar
wanted to irritate Pratap by sending the prince of Amer to fight against
him. Perhaps it was difficult for Akbar to drag Pratap out of mountains.
May be Akbar thought that in case the prince of Amer led the army,
Pratap would feel ashamed of hiding in the mountains and would
suddenly come to the battleground and get defeated.

Akbar decided to ignore the sentiments of Muslim nobles. It was a great
decision even for him to appoint Man Singh as the commander-in-chief.
The appointment of Man Singh was more meaningful because it was he
first opportunity after Hemu in 1536, that a Hindu was leading a Muslim
army. There was discontent among the Muslim courtiers. So Akbar
announced the appointment not at Fatehpur Sikri but Ajmer. It proves
that he already knew that his decision would be unpleasant to many.
However, he was firm on his decision, which he had taken after a lot of
thought.

Akbar also knew that he was testing his Rajput soldiers loyalty by asking
them to pick up arms against a Rajput king. He also knew that only
Rajputs would be able to fight an enemy like the Sisodivas on the uneven
and bumpy terrain of Mewar.

SubQuestion No : 15

Q15 <and bumpy terrain of Mewar"

The underlined word means:
1. uncut

complex

uneven

sloppy

w1
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q16 WWhich one of the following is not a sub skill of reading?

1. Recognising vocabulary, picking out key words.
2. Deducing the meaning and use of unfamiliar lexical items.
3. Scanning to locate specifically required information.
4. Knowing the spelling of each word.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.17  How many languages are listed in the Indian constitution as recognised languages?
1. 16

1690

22

47

Bowoo

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.18 shyam Sumdar is reading a short text for detailed information. What is this reading known as?
1. Intensive reading
2. Extensive reading
3. General reading
4. Expressive reading
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.19 Comprehension in reading means

The process of deriving meaning from the text

2. The process of listing out the ideas of the text

3. The process of of understanding the each and every word of the text
4. Moving beyond the text

_
-

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.20 Which of the following statements is true of language learning?

1. First language interferes in the learning of second language.
2. First language supports second language learning.
3. Grammar learning is essential for learning a language.
4. One has to pronounce like a native speaker of langnage when we learn a foreign language.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.21  Ateacher allocates themes of varied nature to her learners in groups and asks them to collect data, organise them in
order and to write reports to be presented before the class. What is this language learning task?
1. Project work
2. Seminar
3. skill development
4. Assignment

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.22 Which of the following statements is NOT true of language learning and acquisition?

1. Learning of mother tongue and home language is language acquisition.
2. Learning of a foreign language in language learning.
3. Language learning takes place in a context.
4. Grammar learning is essential for language learning.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Q23 What are these words known as in vocabulary learning context?
The, of, and. a, to, in, it, is, he, for. with, on, this, his, but...
1. Seen words

2. Sight words
3. Content words
4. Lexical patters
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.24 While teaching-learning pronunciation a teacher uses the following set of words. What is this known as?
Bad-pad. bit-pit. bet-pet, big-pig. bull-pull, bye._pie
1. Complementary pairs

2. Contrastive pairs
3. Consonantal pairs
4. Differential pair
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.25 Having done a reading text in the class, a teacher asks her learners to imagine that they are one one of the characters in
the story and to write a letter to a friend about the experiences. What Is this question type known as?
1. Descriptive question
2. Extrapolative question
3. Critical thinking question
4. Appreciation question

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.26 When we read a text or a story we get hints based on meaning of the text to comprehend it. What is this known as?
1. Graphonomic cues
2. Semantic cues
3. Syntactic cues
4. Metalinguistic cues

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2




Q.27 Anachievement test in language education means
1. to measure the extent of learning of the materials presented in a particular course.
2. to measure the specific problems a learner may be facing in certain areas viz. listening, speaking, reading, writing

of language learning.
3. to measure what the child lacks while using the language in day-to-day social settings.
. to measure the language behaviours of learners in academic situations.

=

Options 1.
2.
3.
4.
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Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.28  Which of the following are the steps involved in process approach to writing?

1. Brain storming, outlining, drafting, revising, proof reading and writing final draft
2. Jofting, drafting, brain storming, revising, writing the final draft and proof reading
3. Brain storming, drafting, proof reading, outlining and writing the final draft
4. Outlining, brain storming, drafting, revising, proofing and writing the final dratt
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.29 What does ‘Immersion’ in language teaching mean?

1. Teaching in English only.
2. Teaching in a language which is not the mother tongue/home language of learners.
3. Teaching in a language which is the mother tongue/home language of learners.
4. Teaching through some unique method/approach
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.30 Which one of the sub-skills of listening is a component of Bottom-up approach to teaching-learning of listening?
1. Recognising organisation clues
2. Finding support details
3. Getting the gist
4. Evaluating themes

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




